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 وᗫ ساهُ إᙏسانا᠍  الله ᘌخلق  لــم....   مــقدرةأقدارا᠍  الله عᣢ   دعها 

               درجة                                                                             ب.      1

𝐑     - : من الرسم البياني .   2  = 𝟔 ⋅ 𝟒 × 𝟏𝟎𝟔𝐦                         درجة      

                                   𝐫 = 𝟐𝟓𝟏𝟔  𝐑 = 𝟐𝟓𝟏𝟔  (𝟔 ⋅ 𝟒 × 𝟏𝟎𝟔)    ∴          

                                                     × 𝟏𝟎𝟔 𝐫 = 𝟏𝟎 ∙   درجة          𝟎

  

      - من الرسم البياني :

  𝒈 = 𝟒 ⋅ 𝟎 𝑵 𝑲𝒈ି𝟏    يقابلها     𝒓 = 𝟏𝟎 ⋅   درجة                               عند    𝟎

                                                                      𝒈 = 𝐅𝐦  

                                                             𝑭 = 𝒈 ∙  𝒎  

                                            4.0 × 220 = 880 N      =          درجة 

                                                                    

               درجة                                                                                ج .    3

4                                   .∴   𝐠𝐌𝐨𝐨𝐧 = 𝐠𝐄𝐚𝐫𝐭𝐡                              

                          𝑮 𝐌𝐱𝟐  = 𝟑 ∙ 𝟑 × 𝟏𝟎ି𝟑         

         𝐱 = ට 𝟔∙ 𝟔𝟕 𝐱𝟏𝟎ష𝟏𝟏    ×    𝟕∙𝟑 𝐱𝟏𝟎𝟐𝟐 𝟑∙𝟑𝐱𝟏𝟎ష𝟑 = 𝟑 ∙ 𝟖 𝐱 𝟏𝟎𝟕 𝒎                 درجة  

      درجة                                      شدة مجال الجاذبية        – .                  5

     درجة                                           المجال المنتظم       –                      

                                      درجة                                                      تــقل        –                      


